Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42-+8
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a. Explain with a diagram, the ph ases%f Compiler. (08 Marks)
b. Write the transition dlagram r'the following :

1) Identlﬁer i p Insigned number ) (06 Marks)
¢ cah B (06 Marks)

d (06 Marks)
b. Show that the ﬁillowmg grammar 1s ambxgu yus E—-SE+E|E*E|(E)|1id
Write an equwglent unambiguous grammar for the same. (06 Marks)
c. What are thc key problems with top down parse? Write a recursive descent parser for the
ar * (08 Marks)
a. Given the grammer )
S — aABb
A—>cle
B—odl|e %)
i) Compute FIRST and FOLLOW sets ™,
ii) Construct the predictive parsing tablc) e '
iii) Show the@moves made by predwt’ , parser on the input+; acdb. (10 Marks)
b. Explain with a'neat diagram, the mo”ﬁgl of a table driven predlctlve parser. (05 Marks)
c. What is hanﬁle pruning? lee a»bo%tom up parse o sthe input : aaa * a++ and grammar :
4 (05 Marks)
, (10 Marks)
b Construct LALRWpag ing table for the grammar shown in Q4 (a) using LR(1) items.
(10 Marks)
a. Define Inherited and Synt@emzed attributes. Give examples. (06 Marks)
b. Give the SDD for su@ple desk calculator and draw dependency graph for expression,
1*2*3*%(4+5n. (10 Marks)
c. Write SDD thatmgeng:rates either a basic type or an array type. (04 Marks)
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Translate the arithmetic expression:a+- (b+c¢)i intg qqadruples tr1ples and indirect triples.
(06 Marks)

(06 Marks)

Give a semantic action for : S — if (B) S else Sz,
Develop SDD to produce directed a cychc&gr ‘
constructing the directed acyclic graph for the e)ébressmn ata*(b— c) +(b—c)*d.

‘o (08 Marks)

With a neat diagram, describe the general structure of an activation record. (06 Marks)
Explain in the strategy for reducin agmentatlon n leap memory. (08 Marks)
Explain briefly the performanc ered “while designing a garbage
collector v (06 Marks)
Explain the main issues in roi (10 Marks)
For the following progt A MECMRIT LIBRARY
fori=1to 10 do L RANGALORE - 560 037

forj=1to 10*{1 |

a[i, J]

fori=

a[i, 1] g e
Generate 1n ermedlate code and 1dent1f3? bas1c blocks. (10 Marks)
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